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UNIT 6 — EOCT Review Name:

Which is an equation for the circle with a center at (-2, 3) and a radius of 37

A xh;-?&\if}w%ﬁ \,('%qxwinﬁ;. \j ({3 +4
X B EI-J-Z;”*;"LW.’S"L-!-# o %}1 (2) =4 (5.9 M’) -9
5 CK:+23%+(L§“5> =9
C=(~2, 3”) = >

What Is fhe center ai‘ the circle given by the eqmtmn X 3 - 1ﬂx€ 11}: 0? -’\ i
A)(5,0) KoKy 22 %\j +0y +.2 s =4 &
i e 45,3 S e R % Z- g
B. (0.5) ( ’””’“\) =( :3> ( o {”‘,‘;‘L
C. &5, Q} ...... ra
b o (x-5)%4 (y+ O = 3l
= I} e
cenyer (75,0 =0
A circle is cemtered at the origin and has a radivs of 3 unifs. A harizontal line passes
through the point (0, 3). In how many places does the line intersect the circle?
A0 7
D, mfinttely many
A circle is centered at the origin and has a radius of J10 units, A Hine has a slope of -3
and passes through the grigin. At whick points dees the Hne Intersect the circle?
A. (3, 1yand (3, 1) X3
{1, 3) and (1, -3}
(1, 3) md (1, -3)
D. (3, Dand (<3,~1)

A. (-6.5)
B. 1,6)
€. 0.9

= =4+ 49




q What value should be added in the blanks to complete the square?

X%+ 8x + + ¥+ 10y +25=-156+___
(%)= (=1 —

@ 4 ® 8 @ 64

7-11. Match each equation with the description of the circle it represents.
7 (x-472+ (y-57= A center: (-7, 2); radius 3

_‘é’_ 8. (x+T7)?+y—2)¢= B center: (-7, -2); radius J3
i 9. ¥ - 10x +y* -8y =-39 center; (-2, 7); radius 3
21 0.x2+8x+y>+10y=-25 center: (2, —7); radius J3
21 1. X% —4x + y* + 14y =-50 center: (-4, -5); radius 4
center. (4, 5); radius 2
center: (5, —4),; radius «[2_
center: (5, 4); radius /2
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12, The graph of the equation X2 + 6x + y? — 8y =-9 is a circle.
a. Complete the square and then write the equation in the form (x — hy? + (y — k)? =r*. Show

your work.
- W
X% (o% +_1 umj %&S‘ =94 A4+ Re
fel) = () (=

({x-&— )k (%w‘%} = “ﬂ{

b. Describe the center and radius‘of the circle.
cender (=3,4)
codios = 4







